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| Math 1060 ~ Trigonometry
26 Conic Sections: Parabolas

[sin2u=2sinucosu | Learning Objectives

b ¢ In this section you will:
* Learn the definition of a parabola in a plane.
E= a’+b’ —2abco@ * Know and use the standard equation of a parabola.
* Sketch the graph of a parabola.

* Determine the vertex, focus and directrix of a parabola.



Parabolas
A parabola is the set of points of equal distance from a given point and a given line.
The point is called the focus and the line is called the directrix.

Ex 1: Plot several points which are equidistant from F, the focus and d, the
directrix.
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Vocabulary for Parabolas
Focus F

Directrix d

Axis of symmetry — yue L. 4o d
Latus rectu‘f?l’('t%c-‘g' gh‘oré)\o cus
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We can develop a formula for the parabola.

Let (x,y) be any point on the parabola.
Let F be at (0,c) and the line L be at y =

-C.



Standard Form of Parabolas with Vertex at (0.0
f2o p<© i
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Ex 2: Graph each of these. — |
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Transformatlons ofa Parabola
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Ex 3: Graph each of theseMneed to complete the square on one
of them to put it in standard form.
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Ex 4: Find the equation of a parabola with the given information.
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a) directrix at y = -4, vertex at (4,-1)
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b) vertex at ié\l ,2) , passing through (-3,-4) with axis parallel to the x-axis.
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